IR A #2580 2,327,460 M
XHRE 2,327,460 M
EZLEIERE 0H
(IR A D EB] A B B-A (BAf: - AEDIRD)
# B MEEFPHE | AFEETHE LeEs i %
1 & B 650,000 500,000 A 150,000
2 EXPNA(ZME) 100,000 150,000 50,000 % ZE. IRV LD S ME
3 AR — 500,000 500,000 0
4 BAERE 0 40,000 40,000
5 ¥ IR A 40,000 40,000 0|CDIEH—F. 24
6 TOEE X 30,000 125,000 95,000 {EEEIREZM -ENYERITER
8 OB & 400,000 400,000 o|BT&LY
9 HEA A 21 6 A 15
10 @ m e 701,529 3,454 A 698,075
" [#EFE TR IUXES 0 544,000 544,000
12 AR—YRE2REK 50,450 25,000 A 25,450
& &t 2,472,000 2,327,460 A 144,540
(XHDHE] A B B-A
B B MEEFHEE | AEETHSE LeEs i %
1 B il 620,000 560,000 A 60,000
2 TOEEXESHE 16,000 50,000 34,000|fEBEIREHE - ENYERFRHE
3 AR—YREE 60,000 30,000 A 30,000\ R R—YAE
4 FIRIEAE 110,000 30,000 A 80,0007 57 =ERENMIZ(5[E]) , BT EN R4k FA 3
HEBE 130,000 120,000 A 10,000 | FEHTA R (5A) - RAR K430 EfRIAF Hw
6 B E # 240,000 230,000 A 10,000 [HPEREIRSFH ., BEER. 70014 —F& YIF . b
7 EHHEER 20,000 10,000 A 10,000 2E—FfE, h—FIvD XEER
8 EEHEER 10,000 40,000 30,000|= B - it
9 w® & 10,000 10,000 O ERBESRDORBE
10 EiEE 10,000 10,000 0
" XEE 20,000 10,000 A 10,000
12 W B 10,000 10,000 0| D1t
13 F i B 9,550 6,460 A 3,090
14 BE M 100,000 130,000 30,000|ZDEN—F. 2FIL
15 9773V v—BEE 1,056,000 1,056,000 0
16 AR—YRLRIE 50,450 25,000 A 25,450
& &t 2,472,000 2,327,460 A 144,540




